GEEY iz 5% SR B IRAE]
IEZ#A0AS: 300146 UEFRTRIRR: ¥ e A A4S 2025-013
GEARRHERAE
RTEAREEA REHITRITEMAE

AATIRERLLBRAGEE BEBONAIL. BH. 58, WEREIR. REtEE
REKHR

HEAFRR:

VAR 2R 44T UESR A RIS TG AL AT I 22 Ve . R LR 1Y
PRIV = i o

QAL A CEFBRAAID FHESEANBT 27 e NRFIINE B F 54
AT ZEII

3R RS AR I e 52 3 % R T s, Bt it Ao A
ST AT F5 U T A DR AR SR A R

AR ERAR (LURFERR AR ) N MEFSE T HIRES R N
WHESE T RSUWHETGEND | G E B R ST E) . K
MIEHA T

—. BEEM R

LEFEEM H I

NIRE AR RS MR, GERHNE QG RS, ERHIR TR LA 2 A
EWEERRERT, AR NE A7 TSR, InA R, HAF
BB AR BIE I H B 2 14

2. BBUE R RR

Aw (FTENk, NED HSEEAEDL 27 /2 AR TN E B 5 ek
THCHN, R PR A A Ry B A R SN JEE R R W s H
A2 12 AN H A, 78 AR R KA R P 5 4 T DA PR IR B A8, A3 FH TR A AT — b A0,
W B A BRI & R E T AR 27 12T,

3B mRE

NG BEE AR AT (BRI L) AR AR B KRG,
PP AT BV . A FHLARAT . RS A R ST SR U K AR R




D Rz s+ FEERBAERAD

BRI 7 i, AR A PR B B A B8 AT R B T A M R A 5 o

4.3 &SRR
AT TRITEV NS S RETENNE A G R4S, MNEWARERSERE TR,
—. HERF

AUAEHNE BE ReHAT RN RN CE A A BN EEE S T TRl
SNSRI F S RS WCHBGEY, TEFHFREB AR H L

=, BBERK TR RIS 1

(—) BB

1.2 W) UM S R BRIV 7 ot J 1 rh I XUR: 43 58 et A, (B < it T 37 32 2 W8 T ) 52 M ¢
Ko AHEBRZIR G2 BT A0k 30 560, $ SIS v T

2ARICN SRR KR

(Z) RIEHRHE

LA HINE BA R ST RGN ENAE AR EHE a0, RNARLE
BRIV 55 S M 7 DR LGS, A W1 IV 55 P LRSI i, A 1 IV 45 P g B I 4 T AT R
BRIV = e T BRSO, v RIARAE AT RESC I A m B e A R R &R,
PR SRR LA B, 42 F1l 43 0 SR 5

2. m) VA SO BRIV B S AR R AT R SR, IR T
HRIV 7= I H AT A TR 2

3N E S T BOT B S S DU T I B A A, 6 B T A AL
AT 5 1

40 AP ARIE AL S AR (TR A B M B ) 1A e, B AR A5 B9
7 LAE.

I P )= 2

T ISR BTG . AT, RN BN, A RSN E A %
SIS T i, RAETRIRA 7 HE i B M S22 aiHe TS, AR T3 A A
B HIRCR, A F R ARIRIE 2 (455 4 .
AT (i) MR R B AT AT S A R AR, AR
GI R N
F. BHEREL
WHESUN: AFMEHNE OGRS, GFTIRETRSMEHNE, N

~

FE



G #nz s546 BEERRINEIRAT

D) R RRICE 2 B Bk, AR E AR KRR SR . AEas (&
JEAEME) S EEAN 27 /270N B B AT 5 e T R S

Ny HEXF

LEANREFRR B IR WG

2.5 N M H R B IR R

Rt

D A AR A IR~ 7

HOH =
ZOZHF=HT—H



